
2⇥ 10� 9⇥ (5 + 3⇥ 2� 2) = 20� 9⇥ (5 + 6� 2) = 20� 9⇥ 9 = �61

15

39
=

3⇥ 5

3⇥ 13
=

5

13

12

60
=

12⇥ 1

12⇥ 5
=

1

5

�5

�5
= 1

16

2
= 8

1

3
+

1

2
=

1⇥ 2

3⇥ 2
+

1⇥ 3

2⇥ 3
=

2

6
+

3

6
=

5

6

7

8
� 3

4
=

7

8
� 3⇥ 2

4⇥ 2
=

7

8
� 6

8
=

1

8

�7

3
⇥ 2

5
=

�7⇥ 2

3⇥ 5
=

�14

15

20

9
⇥ 21

44
=

20⇥ 21

9⇥ 44
=

4⇥ 5⇥ 3⇥ 7

3⇥ 3⇥ 4⇥ 11
=

5⇥ 7

3⇥ 11
=

35

33

5⇥ 3

7
=

5⇥ 3

7
=

15

7

4

21
6

49

=
4

21
⇥ 49

6
=

4⇥ 49

21⇥ 6
=

2⇥ 2⇥ 7⇥ 7

3⇥ 7⇥ 2⇥ 3
=

14

9

23 = 2⇥ 2⇥ 2 25

23 ⇥ 25 = 28



37

35
= 32

37

35
= 37�5 = 32

53 ⇥ 73 = (5⇥ 7)3

25

75
=

✓
2

7

◆5

�
35
�2

= 32⇥5 = 310

�1 5�1 =
1

5

5⇥ 1

5
= 1 5⇥ 5�1 = 51�1 = 50 = 1 5�7 =

�
5�1

�7
=

✓
1

5

◆7

=
17

57
=

1

57

113

119
= 113�9 = 11�6 =

1

116
47 = (22)7 = 214

�12 (�1)2 �12 1 �
�12 = �1 (�1)2 (�1) (�1)2 = (�1)⇥ (�1) = 1

3⇥ (2x+ 1) = 3⇥ 2x+ 3⇥ 1 = 6x+ 3 2x(5x� 7) = 2x⇥ 5x� 2x⇥ 7 = 10x2 � 14x

28x� 7 = 7⇥ 4x� 7⇥ 1 = 7⇥ (4x� 1) 18x2 � 24x = 6x⇥ 3x� 6x⇥ 4 = 6x(3x� 4)

(2x� 5)(1� 3x) = 2x⇥ 1 + 2x⇥ (�3x)� 5⇥ 1� 5⇥ (�3x) = 2x� 6x2 � 5 + 15x = �6x2 + 17x� 5

a2 � b2 = (a� b)(a+ b)

(x� 3)(x+ 3) = x2 � 32 = x2 � 9 4x2 � 25 = (2x)2 � 52 = (2x� 5)(2x+ 5)

98⇥ 102 = (100� 2)⇥ (100 + 2) = 1002 � 22 = (102)2 � 4 = 104 � 4 = 9996

x

x+ 5 = 18 x+ 5� 5 = 18� 5 x = 13

x� 17 = 131 x� 17 + 17 = 131 + 17 x = 138

7x = 98
1

7
⇥ 7x =

1

7
⇥ 98 x =

98

7
= 14

2x� 9 = 24 2x = 24 + 9 2x = 33 x =
33

2

5 � 3x = 80 �3x = 80 � 5 �3x = 75 x =
75

�3
= �25 x

�3


